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Find the displacment from from Amsterdam to Dubai.
Amsterdam is located at (52,5) and Dubai at (25,55).

1) To find the © component of the displacement vector, form the

difference of the x© coordinates between the two points.
r component of displacement=25 — 52= -27

2) To find the y component of the displacement vector, form the

difference of the y coordinates between the two points.
y component of displacement=55 — 5= 50

3) Now you can say that the displacement vector from Amsterdam to
Dubai s <-27,50>
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